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General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 — 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limit should
be adhered to as far as possible.
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SECTION A

Al STeqTiYehR 8 w7 A= 8 2

What is meant by collusive oligopoly ?

IcTTe B <hl qiymsT ST |

Define production function.

gfd <1 e i |

Define supply.

TR - TS TEAT H Teh1ehl TT1&I01 FEATE I[F hi 7 | Icq1eT HHIEHT Wl h

Te H TR a1l Hod Samsy |

Large number of technical training institutions have been started by the

government. State its economic value in the context of production

possibilities frontier.

HITT 1 e YOIAT SAEGR hal Sl & ?

When is demand called perfectly inelastic ?

I ShTS L BH GRT I 1 Y <l el TS T B ? THSAST |
arera
aifeleh wEman BH g 9%g 1 gfd ol & Twifad St 7 2 9Wes |

How does change in per unit tax influence the supply of a good by
firm ? Explain.

OR
How does subsidy influence the supply of a good by a firm ? Explain.

IUTE GHTSHT dsh 19 bl 3R gaTal &1 gl & ? FHEET |

Why is a production possibilities curve downward sloping ? Explain.

3
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8. Tk %] ! WA H hHd A (-) 18 | Himd § T Tlasa aReds 8 A7
20 3hTE H FghL 30 TS Bl ST ? Giehed hIfST |

Price elasticity of demand of a good is (—) 1. Calculate the percentage

change in price that will raise the demand from 20 units to 30 units.

9. U Ui Ui ST H shaTali <hl 371U TEAT o YHIE hi SATEAT hIT |

Explain the implication of large number of buyers in a perfectly

competitive market.

10. <R i T feufa o ofiga genfa (M) @da dima sty (3mm) &

U Bl & ? GHHTST |

Under what market condition does Average Revenue always equal

Marginal Revenue ? Explain.

11. 9Nadl AUl o FEW & IR A 3cdrg H IRaa o fafdd =wor s |
T@Tfed 1 =T IR |

State the different phases of change in total product according to the

Law of Variable Proportions. Use diagram.

e HETITIEd 3797 HacT gIegia Themdal & 1o/g 97 &7 11 & €97 W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 11.

giEdt 3TuTal w1 faw Fwemsy |

Explain the Law of Variable Proportions.
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12.

13.

14.

Note :

58/2/2

g HMd FU b Teh IUNIHT hadl &l IEGHAT H1 IUHM HLAT &, IRATC
forveryur S TEmEET ¥ IUMRET TgeH sl Id aUesy |

AU
Teh IUMIRAT hadd g aegali X 3 Y 1 YA AT 8 3 TdeH d 7 |
THATEY foh U & 9% X ohl hiHd R B, @ 9&q X 1 #T sedl B |
Irfirar foeeiwor =51 3w A |

Assuming that a consumer consumes only two goods, explain the
conditions of consumer’s equilibrium with the help of Utility Analysis.

OR

A consumer consumes only two goods X and Y and is in equilibrium.

Show that when price of good X falls, demand for good X rises. Use
Utility Analysis.

Teh a%] ! Ueh IUMRKT gRT AT 3 FIAR T o s 7@ Fais | o e i
AT AT Teh Ak gRT WM H S & 2 |

Distinguish between demand by an individual consumer and market
demand of a good. Also state the factors leading to fall in demand by an

individual consumer.

TR H Th a&q b G AR & 1 AT g ? 3Hoh 39 a%g b IR T
TS Tl WGl i @1 HHSTST, | @I 1 ST hiT |

What is meant by ‘excess supply’ of a good in a market ? Explain its

chain of effects on the market for that good. Use diagram.

HETITIEa 3797 HacT gIegia Taemdal & 1o/g 97 &7 14 & €97 W& |

The following question is for the Blind Candidates only in lieu of
Q. No. 14.

TR | TH a&q o Yl AR & 1 AT g ? 3Hoh 39 9%g o IR T
TS TSl THTET Sl TEAT FHATSY, | ATfAehT 1 ITAM HIT |

What is meant by ‘excess supply’ of a good in a market ? Explain its

chain of effects on the market for that good. Use a schedule.

5 P.T.O.



15.

16.

58/2/2

IHTH % favciyur § IUMRRT Tqad ohl Id oa1sC AR 39 3@l & 11
fiferes gwemsT |

HAAT

SARMEE ashi shl 9 fasiwarsti <1 same hifa |

State the conditions of consumer’s equilibrium in the Indifference Curve

Analysis and explain the rationale behind these conditions.

OR

Explain the three properties of the Indifference Curves.

U BH & TR H frefefaa g |, S dra iR digia gy (smm) &
MR T BH T T ICUTET T hITT | HRUT FASY | 38 IcUTET T AT
Y 319 HIfST |

IcqTe A EIH (3ATH) A AN
(3T5) ) )

1 8 10

2 16 18

3 24 23

4 32 31

5 40 41

From the following information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.
Also calculate profit at this output.

Output Total Revenue Total Cost
(units) () )

1 8 10

2 16 18

3 24 23

4 32 31

5 40 41
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17.

18.

19.

20.

21.

22.

23.

58/2/2

wis
SECTION B

TEy Iy i it e |

Define aggregate supply.

A § T AT 3 ?

What is devaluation ?

St 3 & o oA 2

What is a central bank ?

qufy Afems § ‘Srcafies | 9 = M @ 2

What is meant by ‘excess demand’ in macroeconomics ?

“grerfirer =rer’ @ @I SR @ 2

What is ‘primary deficit’ ?

HET 1 SAEANG YT 1 e 1 qHEY |
YT
g1 1 oI 999 1 GHEST, |

Explain the ‘standard of deferred payment’ function of money.

OR
Explain the ‘store of value’ function of money.

AT foh T Ao HTer fohd JehR HTT AT 7 |

How is balance of payment ‘deficit’ measured ? Explain.
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24.

25.

26.

*217.
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WA qgT I Goaglhg € R IR 7 ? 38R FEfal W R YHE g8 i
ST Bl 8 3Ty ?

What is ‘appreciation’ of domestic currency ? What is its likely effect on

exports and how ?

g TS ¥ 1 AU 8 2 USRI Ush 380 S 3T 3Heh Hehdd
T 3G o AN o Hedlo & goeh o & H WM T J9E il S
it |

What are non-monetary exchanges ? Give an example. Explain their
impact on use of gross domestic product as an index of welfare of the

people.

HIT ¢ §U S5 o6 Tl s § Ffafaa st Usted s w9 Smem
‘i?ﬂT[ﬂ Y

(i) BEER W=

(i) g Foin w =

Giving reason, state whether the following is a revenue expenditure or a
capital expenditure in a government budget :

(1) Expenditure on scholarships

(i)  Expenditure on building a bridge

TR F el i e oK w@reed SE 491 gud eH i W AU =
FET TE H e | 75 fha onfles goa 61 guiian & 2 wwemsT |

Government has started spending more on providing free services like

education and health to the poor. Explain the economic value it reflects.



28.

29.

30.

58/2/2

HET MY ! TR HR 38k Heh THST |
areran

Sl Sk T ‘T TR w1 gHETs |

Explain the concept of money supply and its components.

OR
Explain the ‘currency authority’ function of central bank.

U rfeawdn, st 5 gged # 7, % 9 # ffaRea sesl @ Hiuma g
W’WWW:

o = = 800

Tad (W) UM s = 100

fasr =99 = 100

Calculate ‘Marginal Propensity to Consume’ from the following data

about an economy which is in equilibrium :

National income = 800
Autonomous consumption expenditure = 100
Investment expenditure = 100

T Jwfeys gl @ wg o w1 fuftr wweme | et @ 3w
HIT |

AT

e TU UM I @ §9d 9% UTH % H T IH 91 =707 998U | @it
1 39 HIfT |

Explain national income determination through the two alternative

approaches. Use diagram.

OR

Outline the steps in deriving saving curve from the given consumption

curve. Use diagram.

9 P.T.O.



Fig:  [ArfkiRad o7 Feaci gRg ahemear & g o7 §&7 30 @ T W8

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 30.

T 3 FEoT 3 &1 dehfcdes giEshivn shi Sl HivT | 6
AT
I9IT A 3T o= BoAd hl AT il |

Explain the two alternative approaches of national income
determination.

OR

Explain the consumption function and saving function.

31. fm=faRes @ Tfw o 3t ‘Tt Ui TasT I 1 ufteher Hifs 4,2

(T 3T 4)
i)  Taa smm 60
(i) focEn =1 faa IS (I1e) g&aaon (-) 10
(i) T =ey sraat gt famior 300
(iv) |hN AfH 39w == 200
(v) Tosit oifom sawm == 700
(vi) TS oI ST ITHA 70
(vii) i ¥ faa afEdq 30
(vii)) TocEn 1 Fad wRH A 20
(ix) Troa e 100

58/2/2 10



Calculate ‘National Income’ and ‘Gross National Disposable Income’
from the following :

(T in Arab)
(1) Net imports 60
(i1)  Net current transfers to abroad (-) 10
(111) Net domestic fixed capital formation 300

(iv)  Government final consumption expenditure 200

(v) Private final consumption expenditure 700
(vi)  Consumption of fixed capital 70
(vi1) Net change in stocks 30
(viil)) Net factor income to abroad 20
(ix) Net indirect tax 100

32. T A H1 3FUH omd a9g fefafed & @y w1 sEgr R S
TR ? A9 I % THAT T SR FqHT AT 8 |

(i)  HUSTET Sl SFE T A
(i) 99 % SNH i H ghg
(it) T AT GRI CHET I A

How should the following be treated while estimating national income ?

You must give reason in support of your answer.
(1) Bonus paid to employees
(1)  Addition to stocks during a year

(i11)  Purchase of taxi by a taxi driver

58/2/2 11 2.000



SENIOR SCHOOL CERTIFICATE EXAMINATION
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MARKING SCHEME — ECONOMICS (Foreign)
(SET -2)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1.

Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

For mere arithmetical errors, there should be minimal deduction. Only %2 mark be
deducted for such an error.

Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

{;} indicates value based questions.

General Note : In case of numerical question no mark is to be given if only

the final answer is given.

. Distribution
C2
Expected Answer / Value Points of Marks

1 | When in an oligopoly market firms co-operate with each other in determining price

and output, it is called collusive oligopoly
2 Production function refers to the relationship between inputs and output.
3 | Supply refers to the quantity of a good producers of that good are willing to supply at

a price during a period of time.
4 The economic value of technical training is that it raises the production potential of

the country by raising the efficiency of the labor.

Pg. 1




5 | The demand of a good is called perfectly inelastic when with the change in the price 1
there is no change in demand for the good.
6 | Suppose per unit tax is raised. This raises cost of producing the good. Price remaining 3
unchanged, profits decline. This is disincentive to producers who supply less.
OR
Suppose government gives subsidy on production of good. This raises total revenue.
Cost remaining unchanged profit rise. This provides incentive to the producers to 3
supply more.
7 PPC is downward sloping because to produce more of one good, the economy has to
produce less of the other good. It is because resources are fixed. 3
8 _ Percent change in demand .
P percent change in price %
% x 100 50
—1 = =
percent change in price % change in price 1
. . 50
percent change in price = == -50 %
Price falls by 50%
(No marks if only the final answer is given)
9 | The large number of buyers is assumed to be so large that an individual buyer’s share
in total purchases is so negligible that he cannot influence the market price on its 3
own by purchasing more or less. The outcome is that price remains unchanged.
10 | It is under the market condition when a firm can sell more at the given price that AR
= MR throughout as production is increased by the firm. It is because the firmis a
price taker. It means that price, which is same as AR, remains unchanged throughout. 3
By the average — marginal relationship, AR remains unchanged only when AR = MR
throughout.
11
-\!
TP
. 2
i
; TP
! |
o A B Variab
1-n]:;ui‘
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The different phases in the law of variable proportions are
Phase : | TP rises at an increasing rate and MP rises, as is upto A.
Phase : Il TP rises at decreasing rate and MP falls but remains positive, i.e. B.

2
Phase : lll TP falls and MP and MP becomes negative after B.
FOR THE BLIND CANDIDATES :
On the same lines as above (without diagram) but with reasons. 4
12 Assuming that the only, two goods the consumer consumes are X and Y, the
condition of equilibrium are :
MU, _ MU, 1
()5x =22
Py Py Y%
(2) MU falls as more is consumed
Explanation :
MU
(1) Suppose Aiu" > P—y .The consumer will not be in equilibrium because per rupee
x y
MU from x is greater than per rupee MU from Y. This will induce the consumer to 2
buy more of x by reducing expenditure on Y. It will lead to fall in MUx and rise in
MUy, till 2% = X%
Py Py
(2) Unless MU falls as more is consumed of a good the consumer will not reach %
equilibrium.
. MU, MUy .
(Explanation based on - < —_ s also correct.)
x y
OR
According to the utility analysis, the consumer is in equilibrium when
MUy _ MUy
Py P
Now, given that P, falls, then
MUz o MUy
Py Py
4
Since per rupee MU, is higher than per rupee MU, the consumer will buy more of X
and lesson.
13 | Demand by an individual refers to the quantity of a good the consumer is willing to
buy at a price during a period of time .While market demand refers to the quantity of 2
a good the consumers of that good are willing to buy at a price during a period of
time.
The factors leading to fall in demand by an individual consumers are :
1) Rise in own price of the normal good .
2) Fallin the price of substitute good .
3) Rise in the price of complementary good .
) p p yg (%x4=2)

4) Fallin the income of the consumers in case of a normal good .
5) Rise in income of the consumers in case of an inferior good .
6) Decline in taste for the good (any four )

(or any other)

Pg. 3




14

X

o . aoa-.-&t,
Excess supply for a good in a market occurs when the actual price of the good is
higher than the equilibrium price .In diagram excess supply at the actual price OP, is
D1S; . At this price producers will not able to sell all they want to sell. Its chain of
effects are :

e There will be competition between sellers leading to fall in price.

e Fall in price will reduce supply along the supply curve S and lead to rise in
demand along the demand curve D as indicate by the arrows.

e The trend will continue till the market reaches equilibrium at E.

For the blind candidates
Schedule :

Meaning of excess supply and chain of effects (on the above line)

15

Let the only two goods the consumer consumes are X and Y.
The two conditions of equilibrium are

(1) MRS = 2=
Py
(2) MRS falls as more of x is consumed in place of Y.

Explanation :

Py . . . e .
(1) Suppose MRS > -2 i.e. consumer is not in equilibrium it means that to obtain one
Py

more unit of X consumer is willing to sacrifice more units of Y as compared to

what is required in the market. The consumer buys more of X. MRS falls and

. - P - I
continue to fall till it is equal to P—x and the consumer is in equilibrium.
y

(2) Unless MRS falls as consumer consumes more of X, the consumer will not reach
equilibrium again.

(Explanation based on MRS < Px/P is also correct)
y

OR

The Three properties are

(i) IC slopes downwards from left to right.
(ii) IC is strictly convex

(iii) IC to the right has higher utility.

1x3=3

Pg. 4




Explanation :

(1) Slope downwards because to consume more of good on the x-axis , the consumer
must give up some quantity of good on the Y-axis so that the consumer remains on
the same level of satisfaction.

(2) Strictly convex because it is assumed that MRS continuously falls due to the law of
diminishing marginal utility.

(3) IC to the right has higher utility level because it is assumed that higher 1x3=3
consumption means higher utility.
16 Output TR TC MR MC
1 8 10 8 10
2 16 18 8
3 24 23 8 5
4 32 31 8 Equilibrium
5 40 41 8 10 2
The producer is in equilibrium at 4 units of output 1
Reason (1) MC= MR 1
(2) MC > MR after equilibrium 1
Profit=TR-TC=32-31=1 1
SECTION-B
17 | Aggregate supply refers to the values of final goods and services planned to be 1
produced in an economy during a given year.
18 | Devaluation is said to occur when the exchange rate is increased by the official action 1
(government) under the fixed exchange rate system.
19 | The central bank is the apex bank engaged in regulating commercial banks. 1
20 | When at the full employment level of income AD exceeds AS, the difference is called 1
excess demand.
21 | Primary deficit refers to fiscal deficit less interest payments. 1
22 Deferred payments mean payment contracted to be made at some future date.
Money serves as a standard of such deferred payments, like in borrowing and 3
lending activities. It has made possible the creation of banking system.
OR
The significance of money as a store of value is that money can be stored for use in
future. One can use one’s present income in future because money comes in 3
convenient denominations and is easily portable.
23 | BOP deficit occurs when autonomous foreign exchange receipts fall short of
autonomous payments. Autonomous transactions are those which are not influenced 3

by other transactions in BOP.

Pg.5




24 | Appreciation of domestic currency occurs when market determined exchange rate 1
falls.

It signifies that foreign buyers will be able to buy less from one unit of currency. This )
makes exports costly for the foreign buyers. As a result exports are likely to decline.

25 | Non-monetary exchanges refer to the goods and services produced but not
exchanged through money, like the domestic services rendered by the members of a 3
family to each other. The value of these services is many a times difficult to estimate
and so it escapes national income estimation. These exchanges however have
positive effect on the welfare of the people.

26 | (i) Expenditure on scholarships is revenue expenditure because it neither creates 1%

any assets nor reduces liability.
(ii) Expenditure on building a bridge is capital expenditure because it leads to
creation of assets 1%

27 | Spending on free services to the poor raises their standard of living and at the same
time helps in reduction in income inequalities. It also helps in raising production 4
potential of the country by raising the efficiency level of the working class among the
poor.

28 | Stock of money in a country on a particular day is termed as money supply. It has two
components : currency with public outside banks and demand deposits. Demand 4
deposits are deposits which can be withdrawn by writing cheques. Both the
components are usable for carrying out transactions at will.

OR
Currency authority function means that the central bank has the sole authority to
issue currency. It brings uniformity in note circulation. It also gives power to the 4
central bank to directly control money supply.

29 |Y =C + MPC(Y) + 1 1%
800 = 100 + MPC (800) + 100 1
800 MPC = 800- 100- 100 = 600 1

MPC = 600/800 = 0.75

(No marks if only the final answer is given)

%
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The two alternative approaches of national income determination are

(1) AD = AS which is on E in the upper part of diagram when AD curve intersects
the 45° line with equilibrium income OM.

(2) S =1whichis E1 in the lower part of the diagram when saving curve intersects
the investment curve at E1 with OM as the equilibrium income level.

OR
v
c,S
[
)
|
" I
3 i 8
i 7
] -7
I -~
qg e
a e S—— 4
By Ircome
v e
//”
I

Steps :

(i) Given consumption Curve CC, take OS; equal to OC
(ii) Draw a perpendicular from B to intersect X-axis on B;.
(iii)  Join S1 and B1 and extend to obtain the saving curve.

1%

1%

Pg.7




For the Blind Candidates :

e Derivation of the two approaches 6
Explanation
OR
e Consumption function : Meaning
Explanation of components
e Saving function : Meaning 6
Explanation of component
31 |N.I = v + iv + (iii + vii)-i- ix- viii 2
= 700 + 200 + (300 + 30)- 60- 100 - 20 1%
= Rs 1050 arab %
GNDI = NI + vi + ix- i 1
= 1050 +70 +100- (—-10) A
= Rs 1240 arab Y%
(No marks if only the final answer is given)
32 | (i) Bonus should be included because it is compensation paid to employees. 2
(ii) Addition to stocks should be included because it is investment a final 2
expenditure.

(iii) Purchase of a taxi by taxi driver should be included because it is final expenditure 2

on investment.

(No marks if the reason is not given)

Pg. 8
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